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iv) Resonance in series RLC circuit

v) P-N junction
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Time : Three Hours Maximum Marks : 100

Note : (i) Attempt total six questions. Question No.I
(Objective type) is compulsory. From the
remaining questions attempt any five.

F B: UEl F W Hid 9 FF 1 (TG
YR ) AfErd & 9 meA J | R 9 A
w Firadl

(ii) In case of any doubt or dispute, the English
version question should be treated as final.

fRdt ot oER F H3E v fHEr & Rl d
AN v F W H AW qE= Fw@m

. Choose the correct answer., 2 cach
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i) The core of transformer is laminated to:
(a) Reduce weight
(b) Reduce eddy current losses
(e) Reduce copper losses
(d) Reduce flux in the core
ZrEEE # AR B wefEd a9 w2
(%) 9R FW FE
(7) A = &9 FE
(®) am @ F9 &
(3) IR § H T FA

i) The speed of D.C. series motor at no load will be:
(a) Zero (b) 1500 r.p.m.
(c) 3000 r.p.m. (d) Infinity
.. @i A #t A A w e
(%) =@ (@) 1500 3m.4t.0m.
(®) 3000 3m.41.0%. (7) ==

iii) The Number of parallel paths in lap wound
generator is
(a) Number of poles
(b) Half the No. of poles
(c) 2
(d) 4
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TF 100 A@ F AEA" 0.1 B W WA T 200
WEHEIE WA U 200 @, S0 7 g F
wHE Aol Fw A T g0 R Y 9w TeRu u
Ftaiaa &t o Fifdo:

3) RN

q) 99y |/ gm

®) uRgy F i o

. Explain working principle of a three phase induction

motor. Define synchronous speed and slip. Calculate
the slip of a three phase 4 pole, 50 Hz induction motor
which is running at a speed of 1440 r.p.m. 18

% fEen oo Wi A w e aweneu gere
a9 Few & aRiva Ffag) o B 4 g3, 50
#EA IO dier # T S e #ifEe 9 9E 1440
Imfwm. 7w @ 2

Write short notes on any three:- 6x3=18
1) Ideal voltage source
ii) PNP and NPN type transistor

iii) Series and parallel combination of capacitance
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(6)

b} Draw a connection diagram of pertorming open
circuit and short circuit test on a transformer.
What is the purpose of these tests? 10
FEERR 1 gen 9fgy 1d @9 oty ghEe &
qirgy wvE Hitgo z9 2 @ 339 A 27

5. Explain working of single phase full wave bridge
rectifier with circuit diagram also draw input and
output wavetorms. &
TFQ W FEdEdl @ M3 T IRE Fdfa #2
AN A1 TAYE U HIIEYE Ta%E aEdl

6. A resistance of 100 ohm. inductance of 0.1 Henry
and capacitance of’ 200 microfarad are connected in
series across a 200 volt. 50 Hz supply. Draw phasor
diagrarn and Calculate:- I8

a) Impedance
b) Current in the circuit

¢)  Power factor of circuit
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o =y areve A § seE w9 A 2

() gl # =0 F TR
(3) @i A wEn F a0 F
()2
(7) 4
iv) PMMC measuring instrument measures:-
(a) A.C. only
(b) D.C. only
(¢) A.C.and D.C. both
(d) None of the above

fi.o9. 0991, q= @9 e 3
(%) Faw 0.4

(T) Fam A4,

(m)u.dt. 3 f.41. =

(7) Jq0 § A F]Z T

v) Open circuit test of a transformer is done t

determine the:-

(a) Iron losses

(b) Only hysteresis losses
(¢) Copper losses

(d) Friction losses
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() 7 il

(@ )mmm
(\) am

(%) =or

State and explain KirchhofT's law. 8
fraEs & Fom few aaaEa)

In the ahead circuit find the value of loop current
I} and I5. 10
yufefiaa ofteg § &9 1, 3 I, T & 9= 7
Sl
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Draw the cross-sectional view of D.C. machine.
Write the name of various parts and their
functions. 85

f&emmﬁaaﬁmmmmml
faf= wn & ™ 3 9 e ol

A d.c. shunt generator develops 40 kW power at‘*
200 volt, 500 r.p.m. The armature and shunt ﬁeld;
resistances are 0.05 Q and 100 Q respecuvely 2
Calculate the speed of the machine when workingz.
as motor taking 40 kW input at 200 volt, assume
voltage drop per brush is 1 volt. 10

F e qm 992 A 40 feeate afd 200 9=,
500 M. N0, W WA F 2 A= FawR
I g iR el = qW F@: 0.05 dw AR
100 3@ 31 wsf= A afa A o A AR 3
wﬁaaﬁmmmm%ﬁzoomqﬂ
40 Treate aifea @ o R Saf® 9 go
| 9 Bl
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Derive the e.m.f. equation of a single phas
transformer.

& - gieeri # fAga s 3w
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